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U3D6_T
INVERSES ...

U3D6 MCR 3UI Inverses Continued....

Warm Up: A) State the inverse of P = {(2,3), (4,5),(9,-2)}
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B) Graph the inverse of each of the following and identify
domain and range of the original and the inverse graph:
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LA =9
Inverses (continued): _ =+ q

Method for finding the equation of an mverse (continued) n
1. Determine the inverse of /(x) = x’ =2, and graph both % ==3

functions. 'PN’ 'F—‘(')O
1 7
b 5 = X+
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that opens we
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State the Domain and Range of each
f(x) f71x)
p:{ xefR ) D{ x=Z —3 }

R: { %2.‘9\ } R: { 56R }
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Is f_] (x) afunction? NO.

-1
Is it possible to make S (X) afunction?

No. A\%ovﬂ\\) w-e Con SQPOJ‘&'\'C
W nto dwo Lunchons.

2. Determine the equation of the inverse for each of the
following functions and identify if the inverse is a function:

, XF2, y+0
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b, f(x)=5x" -2
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Unit 3 Paae 4



Reflective Property for Inverses

The following are inverses of each other.

Note:

The inverse in the first
graph is not a function
due tothe VLT
verttcal line

+est.

.......
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The graph of y = f~1(x) is the reflection of the

graph y = f(x) in the line g =X .
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The cost of a pizza is $8 plus $1.25 per topping.

a) Write an equation of Cost as a function of number of
toppings.
Cln)=9 + L. 257\, where n is the

Nnumber ot %Pp\nﬁs C s +'\e,+o-|-a\
cost (¥)
b) State the domain and range. Assu.me 23 %ppimgs are

owailable. e
D: IneW nz23 -
R: { 8, 4.35, to.so,...,54=-75z 2875

—

c) Find the inverse, and explain its meaning.
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U3D6 Practice: p. 215 #10i,v, 12, 13cg, 14iv, vi, 15b, 22, 23
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